
 

����������	
��
������� ����
	
��
������
��������

 

��������������������������������������������������������������������������������� ���
Double acting 

 

 
 

SERIA H160 CO, H160 CO Series 
 

ISO 6020/2, DIN 24554. NF E 48.016 
 

Ci� nienie robocze , Working pressure : 160 bar 
 

� rednice , Diameters : 25 ~ 200 mm 
 

                                       
 

Wersja/ Edition 03/2007 



 

 2

Specyfikacja 
Specifications 

 
Standard 
Standard ISO 6020/2, DIN 24554, NF E 48.016 

Rodzaj 
Type T
oczyska chromowane ; Tie rods 

Ci� nienie robocze 
Working pressure, dynamic 

Max. 160bar (wy � sze ci � nienie na � yczenie klienta) 
Max.160 bar(higher pressure on request)  
Wysoka wytrzymalo ��  dla wszystkich mocowa �  ; ograniczenie tylko dla T 
High-endurance for all attachments ; limited for T 

Ci� nienie testowe 
Test pressure 240 bar 

Mocowanie 
Mounting position 

Wed
ug projektu  
As desired 

-20° C... + 80° C Standardowe uszczelnienie N , For normal seals N Temperatura pracy 
Ambient temperature -20° C... + 160° C Uszczelnienie Viton V , For Viton seals V 

P
yn roboczy 
Fluid 

Olej mineralny – inny na � yczenie klienta 
Mineral oil – Other on request 

Lepko �� , Viscosity 12 ~ 90 mm²/s 

-20° C... + 80° C Standardowe uszczelnienie N , For normal seals N Temp. p
ynu roboczego 
Fluid temperature -20° C... + 160° C Uszczelnienie Viton V , For Viton seals V 

N-V Zanieczyszczenie oleju NAS 1683 klasa 9...10 – filtr B 25=75 
Oil contamination NAS 1638 class 9...10 – To be met with filter B25=75 Jako ��  p
ynów hyd. 

Quality of hydraulic liquids 
P Zanieczyszczenie oleju NAS 1683 klasa 7...8 – filtr B 25=75 

Oil contamination NAS 1638 class 7...8 – To be met with filter B10=75 
ÆÆÆÆT
oka 
Bore 

25 32 40 50 63 80 100 125 160 200 

ÆÆÆÆT
oczyska 
Rod 

18 22 18 28 22 36 28 45 36 56 45 70 56 90 70 110 9
0 

1
4
0 

Max. si
a promieniowa na 
pie � cieniu prowadz � cym w [N] 
Max.Permis,radial [N] forces in the guide ring 

25 40 63 100 160 250 400 630 1000 1600 

N 0.5 0.4 0.25 Max.Pr � dko ��  
przesuwu (m/s) 
Max. Speed P 1.0 

przó
d 
front 

19 20 24 25 25 28 28 27 27 31 31 25 25 30 30 28 50 45 
Amortyzacja (mm) 
Cushioning length 

ty
 
rear 

16 16 26 26 26 26 26 26 29 29 29 29 29 29 40 40  53   53 

bez 
amortyzacji 
without cushioning 

�  �  �   �   �   �   �   �   �   �   Skok 
min.(mm) 
Min. Stroke z 

amortyzacj �  
with cushioning 

40 45 55 55 60 60 65 65 70 105 

Max. zalecany skok (mm) 
Max. Recommended stroke 
Wi� ksze skoki na �� danie 
Longer strokes on request 

200 
 

30
0 

400 500 600 700 800 1000 1100 1250 

Tolerancja skoku 
Stroke tolerance +2 mm (ISO 8131) , +2 mm (to ISO 8131) 

Gniazda pod 
by � rub 
Counterboring at ports 

Do: 
To : DIN 3852/CNOMO E051180 N 



 

 3

KOD ZAMÓWIENIA    ORDERING CODE 
 

 
 
 
 

CHARAKTERYSTYKA 
CHARACTERISTICS 

OPIS 
DESCRIPTION 

SERIA 
SERIE 

1 SERIA, Serie Si
ownik hydrauliczny-160 bar 
Hydraulic cylinder-160 bar Compact with the rods 

H 160 CO 

2 ÆÆÆÆT
oka,  bore 25 32 40 50 63 80 100 125 160 200 

3 ÆÆÆÆT
oczyska,  Rod 18 18 22 18 28 22 36 28 45 36 56 45 70 56 90 70 11
0 

9
0 140 

Gwintowane otwory mocuj � ce w pokrywie przedniej 
 Mounting with screws in the cyl. head 

MX5 

Trzpienie z gwintem zewn � trznym : przód i ty
 
Tie rods passing through each extremity 

MX1 

Trzpienie z gwintem zewn � trznym : ty
   
Tie rods passing through the bottom 

MX2 

Trzpienie z gwintem zewn � trznym : przód  
Tie rods passing through the head 

MX3 

Prostok � tny ko
nierz - przód 
Rectangular front head 

ME5 

Prostok � tny ko
nierz - ty
 
Rectangular rear bottom 

ME6 

Tylna p
etwa mocyjaca 
Rear cap 

MP1 

Ucho 
o � yskowane 
Fix rear male clevis with spherical bearing 

MP5 

Boczne 
apy mocuj � ce 
Feet on side 

MS2 

Ko
ki mocuj � ce : przód 
Front trunnion 

MT1 

Ko
ki mocujace : ty
 
Rear trunnion 

MT2 

Pojedyncz
e 
t
oczysko 
Single rod 

Ko
ki mocuj � ce : � rodek 
Center trunnion 

MT4 

Gwintowane otwory mocuj � ce w pokrywie przedniej 
Mounting with screws in the cyl. head 

MDX5 

Prostok � tny ko
nierz - przód 
Rectangular front head 

MDE5 

Boczne 
apy mocuj � ce 
Feet on side 

MDS2 

4 
Mocowanie 
Mounting 
Device 

T
oczysko 
podwojne 
Double 
rod 

Ko
ki mocujace : � rodek 
Center trunnion 

MDT4 

Temperatura standardowa : -20° C... + 80° C � Normal temperature -20° C... + 80° C  N 
5 Warunki pracy 

Working conditions 
Temperatura podwy � szona � + 160° C � High temperature � + 160° C max  V 

Uszczelka obustronna 
Double acting seal 

D 
6 Uszczelnienie t
oka 

Piston seals 
Uszczelka kompozytowa  P 

Uszcelka pojedyncza � Single lip seal J 

7 
Uszczelnienie 
t
oczyska 
Rod seals Uszczelka kompozytowa  P 

Bez amortyzacji � Without cushioning 0 

Przód � Front 1 

Ty
� Rear 2 

8 Amortyzacja 
Cushioning 

Przód i ty
 � With front and rear cushioning 3 



 

 4

 
KOD ZAMÓWIENIA    ORDERING CODE 
 

CHARAKTERYSTYKA 
CHARACTERISTICS 

OPIS 
DESCRIPTION 

SERIA 
SERIE 

9 Zasilanie, Ports Gwint wewn � trzny gaz. (BSP)  
Internal thread gaz (BSP) G 

10 Skok, Stroke Nale� y poda �  skok w (mm) 
Please indicate stroke en mm  
Ze wspornikiem 
With brace ring  E 

11 

Wspornik dla skoków  
>500 mm 
Brace ring for long stroke 
>500 mm 

Bez wspornika 
Without brace ring S 

Gwint standardowy ISO 6982  
Standard thread ISO 6982 KK 

KOD A 
CODE A Gwint standardowy DIN 24554  

Standard thread DIN24554 KK1 

			 U 							 ISO 6982�  
Standard thread with male clevis with swivel ISO 6982 C 

			 U 							 DIN 24555�  
Standard thread with male clevis with swivel DIN 24555 E 

Gwint zewn � trzny 
External thread with female clevis D 

12 

Ko� cowka t
oczyska 
Rod end 

Czop 
End with groove end  T* 

13 

Pozycja zasilania 
Position of ports 

T
ok, Bore  ÆÆÆÆ25 & 32 ÆÆÆÆ40 do(to) 200 

Mocowanie 
Mounting  

Pokrywa 
przednia 
Front head 

Pokrywa 
tylna  
Rear bottom 

Pokrywa 
przednia  
Front head 

Pokrywa 
tylna  
Rear 
bottom 

ME5 
MT1 1 1 1 (lub/or) 3 1,2,3 

(lub/or) 4 

ME6 
MP1 
MP5 
MT2 

1 1 1,2,3 
 (lub/or) 4 

1 (lub/or)  3 

MS2 1 1 1 1 

MP3 
MT4 
MX2 
MX5 

1 1 1,2,3 
(lub/or)  4 

1,2,3 
(lub/or)  4 

 

 
Przód, Ty
 
Head, 
Bottom 
Pozycja 
1,2,3 lub 4 
Positions 
1,2,3 or 4 

14 
Umiejscowienie 
zmiennych mocowa �  
Position of variable attachments 

MT4 Nale� y poda �  warto ��  XV w (mm) 
MT4 Indicate the value XV in mm  

15 Czujnik pozycji t
oka 
Position sensor 

Skok min.= 50mm 
Magnetic field  (Mini stroke=50)   CONSULT US 
Opcja dost � pna dla srednic od 
 25 do 
 80 z 
uszczelnieniem H  
Feasible only for � 25 to � 80 diameter, and H seal tightness 

DM 

 
* Poza normami NF E 48016 i ISO 6020/2  * Not mentioned in the norms NF E 48016 and ISO 6020/2 
 
 
 
 



 

 5

 
Wymiary, Dimensions 
 

ÆÆÆÆ T
oka 
Bore 

ÆÆÆÆ MM KK16q 
Ah1
5 KK16q A1h15 ÆÆÆÆ C S T-

0.7 ÆÆÆÆ CR h 

25 18 M10X1.25 14 M14X1.5 18 15 5 13 7.5 1 

18 M14X1.5 18 15 5 13 
32 

22 
M12X1.25 16 

M16X1.5 22 19 5 17 
9.5 2.5 

18 M14X1.5 18 15 5 13 
40 

28 
M14X1.5 18 

M20X1.5 28 25 5 22 
11 2 

22 M16X1.5 22 19 5 17 
50 

36 
M16X1.5 22 

M27X2 36 33 8 30 
13 3 

28 M20X1.5 28 25 7 22 
63 

45 
M20X1.5 28 

M33X2 45 42 10 36 
17 3 

36 M27X2 36 33 8 30 
80 

56 
M27X2 36 

M42X2 56 53 10 46 
23.5 3 

45 M33X2 45 42 10 36 
100 

70 
M33X2 45 

M48X2 63 67 15 60 
29.5 4 

56 M42X2 56 53 10 46 
125 

90 
M42X2 56 

M64X3 85 86 15 75 
38.5 5 

70 M48X2 63 67 15 60 
160 

110 
M48X2 63 

M80X3 95 106 18 92 
44.5 3 

90 M64X3 85 86 15 75 

KOD A 
CODE A 
 
 
 
Ko� cówka t
oczyska 
Rod end detail 
 

200 
140 

M64X3 85 
M100X3 112 136 18 125 

59 4.5 

 

(1) Poza normami NF E 48016 i ISO 6020/2  (1) Not mentioned in the norms NF E 48016 and ISO 6020/2 
 

 

ÆÆÆÆ T
oka 
Bore 

ÆÆÆÆ MM NB NC ND-NE NF r 

25 18 16 10 6 0,2 0,5 

18 16 10 6 0,2 0,5 
32 

22 18 11,2 8 0,2 0,5 

18 16 10 6 0,2 0,5 
40 

28 22,4 14 10 0,2 0,5 

22 18 11,2 8 0,2 0,5 
50 

36 28 18 12,5 0,3 0,8 

28 22,4 14 10 0,2 0,5 
63 

45 35,5 22,4 16 0,3 0,8 

36 28 18 12,5 0,3 0,8 
80 

56 45 28 20 0,5 1,2 

45 35,5 22,4 16 0,3 0,8 
100 

70 56 35,5 25 0,5 1,2 

56 45 28 20 0,5 1,2 
125 

90 78 45 30 0,5 1,5 

70 56 35,5 25 0,5 1,2 
160 

110 96 55 35 0,5 1,5 

90 78 45 30 0,5 1,5 

KOD T (1)  
CODE T (1)  
 
Czop 
End with groove end 
                                          
 

200 
140 136 70 45 0,5 1,5 



 

 6

Wymiary, Dimensions 
 
Mocowanie MX5/Gwint wewn � trzny w przedniej pokrywie  
Attachment MX5/Internal thread in the cylinder-head 

 
 
“H”dla (25-32) Value “H”(for 25-32) 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz : Ko � cówki t
oczyska ; For dimensions not stated here, see Rod end detail. 

 

ÆÆÆÆ 
T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska) AA 

B 
f9 

B
G 

DT E EE F G 
G
A 

J
A 

PJ TG 
VD 
MAX 

W
F 

XB 
f8 

Y ZB 

25 18 40 30 12 M5 40 G1/4 10 32 42 32 49* 28 6 25 30 45* 121
+ 

18 30 
32 

22 
47 

34 
15 M6 45 G1/4 10 36 46 36 47* 33 12 35 34 58* 138

+ 

18 30 
40 

28 
59 

42 
18 M8 60 G3/8 10 46 56 46 58* 42 12 35 42 65* 166

+ 

22 34 
50 

36 
74 

50 
18 M12 75 G1/2 16 45 61 45 62* 52 9 41 50 69* 176

+ 

28 42 
63 

45 
91 

60 
18 M12 90 G1/2 16 45 61 45 64* 64 13 48 60 76* 185

+ 

36 50 
80 

56 

11
7 

72 
24 M16 11

5 G3/4 20 52 72 52 77* 83 9 51 72 82* 213
+ 

45 60 
100 

70 
13
7 88 

24 M16 13
0 G3/4 22 55 77 55 78* 97 10 57 88 91* 226

+ 

56 72 
125 

90 

17
8 10

8 

30 M22 16
5 G1” 0 87 65 11

7 
12
6 10 35 / 86 262

+ 

70 88 
160 

110 
21
9 13

3 
35 M27 20

0 G1” 0 95 70 13
0 

15
5 7 32 / 86 280

+ 

90 10
8 

200 
140 

26
9 16

3 

35 M30 24
5 

G1”1/
4 0 117 92 16

5 
19
0 7 32 / 98 336

+ 



 

 7

 
Wymiary, Dimensions 
 

Mocowanie MX1  / Trzpienie z gwintem zewn � trznym : przód i ty
  

Attachment MX1  / Tie rods passing through each extremity 
 

 
“H”dla (25-32) Value “H”(for 25-32) 

 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 

ÆÆÆÆ T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska ) AA 

B 
f9 

BB DD E EE PJ TG 
VD 
MAX 

WH Y ZJ 

25 18 40 30 19 M5 40 G1/4 49* 28.3 6 15 45* 114+ 

18 30 
32 

22 
47 

34 
24 M6 45 G1/4 47* 33.2 12 25 58* 128+ 

18 30 
40 

28 
59 

42 
35 M8X1 60 G3/8 58* 41.7 12 25 65* 153+ 

22 34 
50 

36 
74 

50 
46 M12X1.2

5 75 G1/2 62* 52.3 9 25 69* 159+ 

28 42 
63 

45 
91 

60 
46 M12X1.2

5 90 G1/2 64* 64.3 13 32 76* 168+ 

36 50 
80 

56 

11
7 

72 
59 M16X1.5 11

5 G3/4 77* 82.7 9 31 82* 190+ 

45 60 
100 

70 
13
7 88 

59 M16X1.5 13
0 G3/4 78* 96.9 10 35 91* 203+ 

56 72 
125 

90 

17
8 10

8 

81 M22X1.5 16
5 G1” 117 125.

9 10 35 86 232+ 

70 88 
160 

110 
21
9 13

3 
92 M27X2 20

0 G1” 130 154.
9 7 32 86 245+ 

90 10
8 

200 
140 

26
9 16

3 

11
5 M30X3 24

5 G1”1/4 165 190.
2 7 32 98 299+ 



 

 8

Pozosta
e wymiary – patrz : Ko � cówki t
oczyska ; For dimensions not stated here, see Rod end detail. 
 

 
Wymiary,  Dimensions 
Mocowanie MX2 / Trzpienie z gwintem zewn � trznym : ty
   
Attachment MX2 / Tie rods passing through the bottom 
 

 
 
“H”dla (25-32) Value “H”(for 25-32) 
 
ÆÆÆÆ T
oka 
Bore  ÆÆÆÆ MM (t
oczyska)  AA BB DD E EE PJ TG Y ZJ 

25 18 40 19 M5 40 G1/4 49* 28.3 45* 114+ 

18 
32 

22 
47 24 M6 45 G1/4 47* 33.2 58* 128+ 

18 
40 

28 
59 35 M8X1 60 G3/8 58* 41.7 65* 153+ 

22 
50 

36 
74 46 M12X1.25 75 G1/2 62* 52.3 69* 159+ 

28 
63 

45 
91 46 M12X1.25 90 G1/2 64* 64.3 76* 168+ 

36 
80 

56 
117 59 M16X1.5 115 G3/4 77* 82.7 82* 190+ 

45 
100 

70 
137 59 M16X1.5 130 G3/4 78* 96.9 91* 203+ 

56 
125 

90 
178 81 M22X1.5 165 G1” 117 125.9 86 232+ 

70 
160 

110 
219 92 M27X2 200 G1” 130 154.9 86 245+ 

90 
200 

140 
269 115 M30X3 245 G1”1/4 165 190.2 98 299+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz : Ko � cówki t
oczyska ; For dimensions not stated here, see Rod end detail. 
 
 



 

 9

 

 
 
Wymiary, Dimensions 
 

Mocowanie MX3 / Trzpienie z gwintem zewn � trznym : przód  
Attachment MX3 / Tie rods passing through the head 
 

 
“H”dla (25-32) Value “H”(for 25-32) 
 
ÆÆÆÆ 
T
oka 
Bore  

Æ MM 
(t
oczyska) 

AA 
B 
f9 

BB DD E EE PJ TG VD WH Y ZB 

25 18 40 30 19 M5 40 G1/4 49* 28.3 6 15 45* 121+ 

18 30 
32 

22 
47 

34 
24 M6 45 G1/4 47* 33.2 12 25 58* 138+ 

18 30 40 
28 

59 
42 

35 M8X1 60 G3/8 58* 41.7 12 25 65* 166+ 

22 34 
50 

36 
74 

50 
46 M12X1.25 75 G1/2 62* 52.3 9 25 69* 176+ 

28 42 
63 

45 
91 

60 
46 M12X1.25 90 G1/2 64* 64.3 13 32 76* 185+ 

36 50 80 
56 

117 
72 

59 M16X1.5 115 G3/4 77* 82.7 9 31 82* 213+ 

45 60 
100 

70 
137 

88 
59 M16X1.5 130 G3/4 78* 96.9 10 35 91* 226+ 

56 72 
125 

90 
178 

108 
81 M22X1.5 165 G1” 117 125.9 10 35 86 262+ 

70 88 
160 

110 
219 

133 
92 M27X2 200 G1” 130 154.9 7 32 86 280+ 

90 108 
200 

140 
269 

163 
115 M30X3 245 G1”1/4 190 190.2 7 32 98 336+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz : Ko � cówki t
oczyska ; For dimensions not stated here, see Rod end detail. 
 



 

 10

 

 
 
 
Wymiary, Dimensions 
 

Mocowanie ME5 / Prostok � tny ko
nierz : przód 
Attachment ME5 / Rectangular front head 

 
 
“H”dla (25-32) Value “H”(for 25-32) 
 
ÆÆÆÆ 
T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska) 

B 
f9 

E EE F FB G PJ R 
RD 
f8 

TO UO 
VD 
MAX 

WF Y ZB 

25 18 30 40 G1/4 10 5.5 32 49* 27 38 51 65 6 25 45* 121+ 

18 30 
32 

22 34 
45 G1/4 10 6.5 35.5 47* 33 42 58 70 12 35 58* 138+ 

18 30 
40 

28 42 
60 G3/8 10 11 46 58* 41 62 87 110 12 35 65* 166+ 

22 34 
50 

36 50 
75 G1/2 16 14 45 62* 52 74 105 130 9 41 69* 176+ 

28 42 75 
63 

45 60 
90 G1/2 16 14 45 64* 65 

88 
117 145 13 48 76* 185+ 

36 50 82 
80 

56 72 

11
5 G3/4 20 18 52 77* 83 

105 

149 180 9 51 82* 213+ 

45 60 92 
100 

70 88 

13
0 G3/4 22 18 55 78* 97 

125 
162 200 10 57 91* 226+ 

56 72 105 
125 

90 10
8 

16
5 G1” 22 22 65 117 126 

150 
208 250 10 57 86 262+ 

70 88 125 
160 

110 13
3 

20
0 

G1” 25 26 70 130 155 
170 

253 300 7 57 86 280+ 

90 10
8 

150 
200 

140 16
3 

24
5 

G1”
1/4 

25 33 92 165 190 
210 

300 360 7 57 98 336+ 

 

* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 



 

 11

Pozosta
e wymiary – patrz : Ko � cówki t
oczyska ; For dimensions not stated here, see Rod end detail. 
 
 

Wymiary, Dimensions 
 
 

Mocowanie ME6 / Prostok � tny ko
nierz : ty
 
Attachment ME6 / Rectangular bottom 

 
“H”dla (25-32) Value “H”(for 25-32) 
 

ÆÆÆÆ T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska)  E EE FB JA PJ R TO UO Y ZJ 

25 18 40 G1/4 5.5 32 49* 27 51 65 45* 114+ 

18 
32 

22 
45 G1/4 6.5 35.5 47* 33 58 70 58* 128+ 

18 
40 

28 
60 G3/8 11 46 58* 41 87 110 65* 153+ 

22 
50 

36 
75 G1/2 14 45 62* 52 105 130 69* 159+ 

28 
63 

45 
90 G1/2 14 45 64* 65 117 145 76* 168+ 

36 
80 

56 
115 G3/4 18 52 77* 83 149 180 82* 190+ 

45 
100 

70 
130 G3/4 18 55 78* 97 162 200 91* 203+ 

56 
125 

90 
165 G1” 22 65 117 126 208 250 86 232+ 

70 
160 

110 
200 G1” 26 70 130 155 253 300 86 245+ 

90 
200 

140 
245 G1”1/4 33 92 165 190 300 360 98 299+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 
 



 

 12

 

 
Wymiary, Dimensions 
 

Mocowanie MP1 / P
etwa mocuj � ca 
Attachment MP1 / Rear cap 

 
“H”dla (25-32) Value “H”(for 25-32) 
 
ÆÆÆÆ T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska)  CB CD CF E EE L MR PJ XC Y 

25 18 16* 10 40 40 G1/4 13 12 49* 127+ 45* 

18 
32 

22 
16 12 45 45 G1/4 19 11 47* 147+ 58* 

18 
40 

28 
20 14 60 60 G3/8 19 16 58* 172+ 65* 

22 
50 

36 
30 20 74 75 G1/2 32 18 62* 191+ 69* 

28 
63 

45 
30 20 90 90 G1/2 32 18 64* 200+ 76* 

36 
80 

56 
40 28 110 115 G3/4 39 31 77* 229+ 82* 

45 
100 

70 
50 36 130 130 G3/4 54 46 78* 257+ 91* 

56 
125 

90 
64* 45 164 165 G1” 57 43 117 289+ 86 

70 
160 

110 
80 56 200 200 G1” 63 57 130 308+ 86 

90 
200 

140 
80 70 240 245 G1”1/4 82 68 165 381+ 98 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 
 
 
 



 

 13

 

Wymiary, Dimensions 
 
 

Mocowanie MP5 / Ucho 
o � yskowane - ty
 
Attachment MP5 / Rear fixed eye with spherical bearing 
 

 
P
 � czenie pomi � dzy 
o � yskiem si 
ownika a elementem 
mocuj � cym powinno by �  smarowane. 
Forsee the greasing of the spherical  bearing with the mounting 
axie 
 
“H”dla (25-32) Value “H”(for 25-32) 
ÆÆÆÆ T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska)  CX E EE EP EX LT MS PJ XC Y 

25 18 12 40 G1/4 9 10 16 20 49* 130 45* 

18 
32 

22 
16 45 G1/4 12 14 20 25 47* 148 58* 

18 
40 

28 
20 60 G3/8 14 16 25 30 58* 178 65* 

22 
50 

36 
25 75 G1/2 18 20 31 35 62* 190 69* 

28 
63 

45 
30 90 G1/2 20 22 38 40 64* 206 76* 

36 
80 

56 
40 115 G3/4 24 28 48 55 77* 238 82* 

45 
100 

70 
50 130 G3/4 30 35 58 65 78* 261 91* 

56 
125 

90 
60 165 G1” 38 44 72 90 117 304 86 

70 
160 

110 
80 200 G1” 47 55 92 100 130 337 86 

90 
200 

140 
10 245 G1”1/4 58 70 116 135 165 415 98 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 
 



 

 14

 

 
 
Wymiary, Dimensions 
 
 

Mocowanie MS2/	apy mocuj � ce 
Attachment MS2/ Feet on side 

 
 
“H”dla (25-32) Value “H”(for 25-32) 

ÆÆÆÆ 
T
oka 
Bore 

ÆÆÆÆ MM 
(t
oczyska) 

E EE G 
G
A 

JA KB 
L
H 

M PJ SB SS ST TS US XS Y ZB 

25 18 40 G1/4 32 42 32 7 19 20 49* 6.5 73 10* 54 72 33 45* 121+ 

18 
32 

22 
45 G1/4 35.5 46 36 10 22 23 47* 9 73 13 63 84 45 58* 138+ 

18 
40 

28 
60 G3/8 46 56 46 13 31 31 58* 11 98 13 83 103 45 65* 166+ 

22 
50 

36 
75 G1/2 45 61 45 17 37 38 62* 14 92 19 102 127 54 69* 176+ 

28 
63 

45 
90 G1/2 45 61 45 17 44 45 64* 18 86 26 124 161 65 76* 185+ 

36 
80 

56 

11
5 

G3/4 52 72 52 23 57 57
.5 

77* 18 105 26 149 186 68 82* 213+ 

45 
100 

70 

13
0 

G3/4 55 77 55 23 63 63 78* 26 102 32 172 216 79 91* 226+ 

56 
125 

90 

16
5 

G1” 87 65 30 82 82
.5 

117 26 131 32 210 254 79 86 262+ 

70 
160 

110 

20
0 

G1” 95 70 35 10
1 

10
0 

130 33 130 38 260 318 86 86 280+ 

90 
200 

140 

24
5 

G1”
1/4 

117 92 37 12
2 

12
3 

165 39 172 44 311 381 92 98 336+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 

 
 



 

 15

 
 
Wymiary, Dimensions 
 
 

Mocowanie MT1/Ko
ki monta � owe: przód 
Attachment MT1/ Incorporated front trunnions 
 

 
“H”dla (25-32) Value “H”(for 25-32) 
 
ÆÆÆÆ T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska)  E EE JA KB PJ TC TD f8 UT XG Y ZJ 

25 18 40 G1/4 32 7 49* 38 12 58 44 45* 114+ 

18 
32 

22 
45 G1/4 36 10 47* 44 16 68 54 58* 128+ 

18 
40 

28 
60 G3/8 46 13 58* 63 20 95 57 65* 153+ 

22 
50 

36 
75 G1/2 45 17 62* 76 25 116 64 69* 159+ 

28 
63 

45 
90 G1/2 45 17 64* 89 32 139 70 76* 168+ 

36 
80 

56 
115 G3/4 52 23 77* 114 40 178 76 82* 190+ 

45 
100 

70 
130 G3/4 55 23 78* 127 50 207 83* 91* 203+ 

56 
125 

90 
165 G1” 65 30 117 165 63 265 75 86 232+ 

70 
160 

110 
200 G1” 70 35 130 203 80 329 75 86 245+ 

90 
200 

140 
245 G1”1/4 92 37 165 241 100 401 85 98 299+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 
 
 



 

 16

 
 
Wymiary, Dimensions 
 
 

Mocowanie MT2/Ko
ki mocuj � ce: ty
 
Attachment MT2/ Incorporated rear trunnion 
 

 
“H”dla (25-32) Value “H”(for 25-32) 
 

ÆÆÆÆ T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska)  E EE PJ TC TD f8 UT XJ Y ZT 

25 18 40 G1/4 49* 38 12 58 95*+ 45* 114+ 

18 
32 

22 
45 G1/4 47* 44 16 68 109*+ 58* 128+ 

18 
40 

28 
60 G3/8 58* 63 20 95 131*+ 65* 153+ 

22 
50 

36 
75 G1/2 62* 76 25 116 136*+ 69* 159+ 

28 
63 

45 
90 G1/2 64* 89 32 139 146*+ 76* 168+ 

36 
80 

56 
115 G3/4 77* 114 40 178 165*+ 82* 190+ 

45 
100 

70 
130 G3/4 78* 127 50 207 177*+ 91* 203+ 

56 
125 

90 
165 G1” 117 165 63 265 209+ 86 254+ 

70 
160 

110 
200 G1” 130 203 80 329 227+ 86 270+ 

90 
200 

140 
245 G1”1/4 165 241 100 401 271+ 98 354+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 

 



 

 17

 
 
Wymiary, Dimensions 
 
 
 

Mocowanie MT4/Ko
ki mocujace: � rodek 
Attachment MT4/ Center trunnion 

 
“H”dla (25-32) Value “H”(for 25-32) 

XV ÆÆÆÆ 
T
oka 
Bore  

ÆÆÆÆ MM 
(t
oczyska)  BD E EE PJ TD f8 TM UM UW 

MIN MAX 
Y ZB 				

Mini stroke  

25 18 20 40 G1/4 49* 12 48 68 45 67 72+ 45* 121+ 5 

18 
32 

22 
25 45 G1/4 47* 16 55 79 50 83 80+ 58* 138+ 5 

18 
40 

28 
29 60 G3/8 58* 20 76 10

8 
70 96 92+ 65* 166+ 5 

22 
50 

36 
38 75 G1/2 62* 25 89 12

9 
90 106 94+ 69* 176+ 15 

28 
63 

45 
48 90 G1/2 64* 32 100 15

0 
100 118 98+ 76* 185+ 20 

36 
80 

56 
58 11

5 
G3/4 77* 40 127 19

1 
130 133 108+ 82* 213+ 25 

45 
100 

70 
68 13

0 
G3/4 78* 50 140 22

0 
140 147 113+ 91* 226+ 35 

56 
125 

90 
88 16

5 
G1” 117 63 178 27

8 
180 166 123+ 86 262+ 45 

70 
160 

110 
108 20

0 
G1” 130 80 215 34

1 
Max 
260 

182 120+ 86 280+ 94 

90 
200 

140 
125 24

5 
G1”1
/4 

165 100 279 43
9 

355 213 142+ 98 336+ 96 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 
Pozosta
e wymiary – patrz Ko � cówki t
oczyska  For dimensions not stated here, see Rod end detail. 
 
 



 

 18

 
 

Wymiary, Dimensions 
 
 

Podwójne t
oczysko, Double rod 
 
Tylko dla mocowa �  : 
MDX5 
MDE5 
MDS2 
MDT4 

Only for : 
-Mounting with screws in the cylinder head MDX5 
-Rectangular front flange MDE5 
-Side feet mounting MDS2 
-Center trunnion MDT4 

 

 
 

ÆÆÆÆ T
oka 
Bore  25 32 40 50 63 80 100 125 160 200 

ÆÆÆÆ MM 
(t
oczyska)  18 18 22 18 28 22 36 28 45 36 56 45 70 56 90 70 11

0 90 14
0 

EE G1/4 G1/4 G3/8 G1/2 G1/2 G3/4 G3/4 G1” G1” G1”1/4 

PJ 49* 47* 58* 62* 64* 77* 78* 117 130 165 

Y 45* 58* 65* 69* 76* 82* 91* 86 86 98 

ZK 124+ 138+ 163+ 175+ 184+ 210+ 225+ 254+ 270+ 324+ 

ZM 139+ 163+ 188+ 200+ 216+ 241+ 260+ 289+ 302+ 356+ 

 
* Poza norm �  ISO 6020/2  * not conformable to ISO 6020/2 

 
Opcjonalne zako � czenia t
oczyska 
ROD ACCESSORIES 



 

 19

 

KOD C  CODE C KOD E  CODE E KOD D  CODE D 

CODIFICATION TO RECALL FOR SPHERICAL BEARING EYE (ISO 6982) 
KOD C  
CODE C CS 12125 CS 1415 CS 1615 CS 2015 CS 272 CS 332 CS 422 CS 482 

CS 
643 

C 32 40 47 58 70 89 108 132 168 
CH 38 44 52 65 80 97 120 140 180 
EN 12 16 20 25 32 40 50 63 80 
EU 10.5 13 17 21 27 32 40 52 66 
CN 12 16 20 25 32 40 50 63 80 
LF 14 18 22 27 32 41 50 62 78 
AX 17 19 23 29 37 46 57 64 86 

KK M12X1.25 M14X1.5 M16X1.5 M20X1.5 M27X2 M33X2 M42X2 M48X2 M64X3 

N 16 21 25 30 38 47 58 70 90 

DYN.Load 10.8KN 17.6KN 30KN 48KN 67KN 100KN 156KN 255KN 400KN 

STAT.Load 24.5KN 36.5KN 48KN 78KN 114KN 204KN 310KN 430KN 695KN 
 

CODIFICATION TO RECALL FOR SPHERICAL BEARING EYE (DIN 6982) KOD E 
CODE E TS 10125 TS 12125 TS 1415 TS 1615 TS 2015 TS 272 TS 332 TS 422 TS 482 TS 643 

C 32 42 50 62 76 96 116 150 195 235 

CH 42 48 58 68 85 105 130 150 185 240 

EN 10 14 16 20 22 28 35 44 55 70 

EU 8 11 13 17 19 23 30 38 47 57 

CN 12 16 20 25 30 40 50 60 80 100 

LF 18 22 28 34 38 48 62 74 98 122 

AX 15 17 19 23 29 37 46 57 64 86 

KK M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M27X2 M33X2 M42X2 M48X2 M64X3 

N 17 21 25 30 36 45 55 68 78 100 

DYN.Load 10.8KN 21.1KN 30KN 48KN 62KN 100KN 156KN / / / 

STAT.Load 17KN 28.5KN 42.5KN 67KN 108KN 156KN 245KN / /  
 

CODIFICATION TO RECALL FOR CAP WITH AXLE (ISO 8133) KOD D  
CODE D CF 10125 CF 12125 CF 1415 CF 1615 CF 2015 CF 272 CF 332 CF 422 CF 482 CF 643 

CE 32 36 38 54 60 75 99 113 126 168 

CK 10 12 14 20 20 28 36 45 56 70 

CL 25 35 40 60 60 80 100 120 140 160 

CM 12 16 20 30 30 40 50 60 70 80 

ER 12 17 17 29 29 34 50 53 59 78 

KK M10X1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M27X2 M33X2 M42X2 M48X2 M64X3 

LE 13 19 19 32 32 39 54 57 63 83 

 
 
DETEKCJA MAGNETYCZNA POZYCJI T	OKA W SI	OWNIKU H160  CO 



 

 20

MAGNETIC DETECTION FOR H160 CO CYLINDER 
 

 

 
 
UWAGA : Dla wszystkich si
owników H160 CO z detekcj�  magnetyczn� , minimalny skok wynosi 50 mm. Opcja 
niedost� pna dla mocowania MT4 – strona 16.  
 
NOTE : For all HVBS type magnetic detection cylinders, a minimum stroke of 50mm is obligatory. 
It is not available in the MT4 attachment, on page 16.  

 
Uwaga !!! 

 
Aby unikn��  b
� dów w przekazie sygna
u, si
ownik nie mo� e pracowa�  w polu magnetycznym przekraczaj� cym 

1Ka/m. 
W bezpo� rednim s� siedztwie czujników, nie mog�  znajdowa�  si�  elementy magnetyczne. 

Si
ownik powinien by�  zabezpieczony przed kontaktem z opi
kami metalu. Temperatura otoczenia nie mo� e 
przekracza�  +70° C. 

 
Warning !!! 

 
To prevent switching errors, the cylinder must not be installed in an external magnetic field that exceeds 1Ka/m. 

There must be no ferritic material in the immediate neighbourhood of the sensors. 
Covers must be provided to protect against ferritic swarf. The ambient temperature must not exceed +70° C. 

 
 
 

BMF 32 M   



 

 21

Technical data for the magnetic field BMF 32 M 
 

 

 

PNP-Normally-open / positive sensing  

 

Rated operating field strength Hn Rated operating field strength Hn 1,2 kA/m 

Assured operating field strength Ha Assured operating field strength Ha ³ 2 kA/m 

Hysteresis Hysteresis £45% de Hn 

Temperature drift Temperature drift £0,3%/°C 

Supply voltage UB Supply voltage UB 10…30 V DC 

Voltage drop Ud for Ie£100 mA Voltage drop Ud for Ie£100 mA £2.5 V 

Rated insulation voltage Ui Rated insulation voltage Ui 75 V DC 

Rated operational current Ia Rated operational current Ia 200 mA 

No-load supply current No-load supply current £30 mA/£10 mA 

Off-state current Ir Off-state current Ir £80mA 

Protected against polarity reversal Protected against polarity reversal Yes 

Short circuit protection Short circuit protection Yes 

Load capacitance Load capacitance £1 mF 

Ambient temperature range Ta Ambient temperature range Ta -25…+70°C 

Utilization categories Utilization categories DC 13 

Degree of protection Degree of protection IP67 

Housing material Housing material � , Aluminium 

Type of connection Type of connection 
Connecteur 

 
Cable with connector 

Connector Connector BKS-S 49/  BKS-S 48 

 

 
Angular  p lug “BKS 49-4”  

 
St ra ight  p lug “BKS 48”  

 
3  meters  of  cable 

 
 LED ye l l ow=opera t i ng  i nd i ca to r  

Green=opera t i ng  vo l tage  
Pro tec t i on  c lass  IP  67  

 
 



 

 22

 Mocowanie 
Attachment  

Schemat 
Schematic view 

K 

2 

1,5 

MP1 
 
 
 
 
MP5 

Tylne ucho 
Rear cap 
 
 
Tylne ucho mocuj � ce – z 

o� yskiem 
Fix rear male clevis 

 4 

1,5 

1 
MT1 
 
MT2 
 
MT4 

Ko
ki: przód 
Front trunnion 
 
Ko
ki: ty
 
Rear trunnion 
 
Ko
ki: � rodek 
Center trunniom 

 3 

0,7 

0,5 MS2 	apy boczne 
Feet on side 

 
2 

0,7 

0,5 

ME5 
MX1 
MX3 
MX5 

Przednia prostok � tna flansza 
Rectangular front head 

 
2 

1,5 

1 
ME6 
MX1 
MX2 

Tylna prostok � tna flansza  
Rectangular rear bottom 
 

 
4 

Buck l i ng  l eng th  
Cisnienie w bar, Pressure in bar ÆÆÆÆ 

T
oka 
Bore 

ÆÆÆÆ MM 
(t
ocz
yska) 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 

25 18 2521 1779 1450 1254 1119 1020 942 880 828 784 746 712 683 656 633 611 

18 1188 836 679 585 520 471 433 402 376 353 333 315 298 283 269 255 
32 

22 2941 2076 1692 1462 1305 1189 1098 1025 964 913 868 829 794 763 735 710 

18 1571 1106 899 774 688 625 574 533 499 469 443 420 399 379 361 343 40 
 28 3812 2691 2193 1895 1692 1541 1424 1329 1251 1184 1126 1075 1031 991 955 922 

22 1877 1321 1073 924 822 745 685 636 594 558 527 498 473 449 426 405 
50 

36 5042 3559 2901 2508 2239 2040 1885 1760 1655 1567 1491 1425 1365 1313 1265 1222 

28 2414 1699 1380 1189 1057 959 881 818 765 719 679 643 610 579 551 524 
63 

45 6252 4413 3597 3109 2776 2529 2337 2182 2052 1943 1848 1766 1692 1627 1568 1514 

36 3143 2212 1797 1548 1377 1249 1149 1067 998 938 886 839 797 758 721 687 
80 

56 7624 5381 4386 3791 3384 3083 2848 2659 2501 2367 2252 2151 2061 1981 1909 1843 

45 3928 2765 2246 1935 1721 1561 1436 1333 1247 1173 1108 1049 996 947 902 859 
100 

70 9530 6727 5482 4739 4230 3854 3560 3323 3126 2959 2815 2689 2577 2477 2386 2304 

56 4867 3425 2783 2387 2132 1934 1778 1651 1544 1452 1371 1298 1233 1172 1115 1061 
125 

90 1260
4 

8897 7252 6269 5597 5100 4712 4399 4139 3918 3728 3561 3414 3282 3163 3055 

70 5939 4179 3394 2923 2598 2356 2165 2009 1878 1764 1664 1574 1492 1416 1344 1275 
160 

110 1470
7 

1038
0 

8459 7311 6526 5945 5492 5126 4822 4563 4340 4145 3972 3817 3677 3550 

200 90 7857 5530 4493 3870 3442 3123 2872 2667 2494 2346 2215 2099 1993 1895 1804 1717 



 

 23

 140 1906
0 

1345
3 

1096
4 

9477 8460 7707 7121 6647 6253 5919 5630 5377 5153 4953 4773 4608 

 
SI 	Y 
Tables of forces 
 
Si 
a wysuwu(daN)   Thrust force (daN) 

Cisnienie w bar, Pressure in bar ÆÆÆÆ T
oka 
Bore 

Powierzchnia 
czynna cm 2 

Full section 30 60 90 120 140 160 

25 4,9 147 294 441 588 686 784 

32 8,04 241 482 723 964 1120 1286 

40 12,56 376 753 1130 1500 1750 2009 

50 19,63 589 1170 1766 23050 2740 3140 

63 31,17 935 1870 2805 3740 4363 4987 

80 50,26 1507 3015 4523 6031 7036 8040 

100 78,54 2356 4712 7065 9420 10995 12565 

125 122,72 3681 7363 11045 14725 17180 19635 

160 201,06 6030 12060 18095 24125 28145 32170 

200 314,16 9420 18845 28275 37695 43980 50265 

 
 
Si 
a wsuwu(daN)   Pul l  force (daN) 

Cisnienie w bar, Pressure in bar ÆÆÆÆ 
T
oka 
Bore 

ÆÆÆÆ MM 
(t
oczy
ska) 

Powierzchnia 
czynna cm 2 

Full section 30 60 90 120 140 160 

25 18 2,35 70,5 141 211,5 282 329 376 

18 5.5 165 330 495 660 770 880 
32 

22 4,24 127 254 381 509 593 678 

18 10,02 300 601 902 1202 1403 1603 
40 

28 6.41 192 385 577 769 897 1025 

22 15,83 475 950 1425 1900 2216 2533 
50 

36 9,46 283 567 851 1135 1324 1513 

28 25,01 750 1500 2250 3000 3500 4000 
63 

45 15,27 458 916 1374 1830 2135 2440 

36 40,09 1202 2405 3607 4810 5610 6410 
80 

56 25,63 769 1538 2305 3075 3585 4100 

45 62,63 1879 3758 5637 7516 8768 10020 
100 

70 40,06 1201 2400 3600 4805 5605 6405 

56 98,09 2940 5885 8827 11770 13730 15690 
125 

90 59,11 1773 3545 5317 7090 8270 9455 

70 162,58 4877 9754 14630 19500 22760 26010 
160 

110 106,03 3180 6360 9540 12720 14840 16960 

90 250,04 7516 15030 22540 30060 35070 40090 
200 

140 160,22 4805 9610 14420 19225 22430 25635 

 

 
hps@hps-polska.com 

HPS zastrzega sobie prawo do zmiany, ka� dej z powy� szych danych, bez wcze� niejszego powiadomienia. 
HPS reserves itself the right to change, without previous warning, any of these quotas. 

 


